1042

OTl1

SECONDARY SCHOOL EXAMINATION - 2025
WreATHS® Whet YRHET - 2025

‘o) Tedag Je[yoog vonsand)
thibds Jabh bRK

Eﬁfﬂﬁi ;‘f .( ANNUAL / =1fi )
Set Code
»
MATHEMATICS
(Compulsory ) .

g wE

Subject Code :

$eA W 100+30+3-133

,“[,le Marks : 100 |
,candidates :

"'»'f—‘;};f 2 Candidates‘ m.u.st enter his / her
MR A7 UF W am#ra-_,l@
1. a0 < Question Booklet Serial No.

Ty I f};m (10 St ) . (IO;:Digitsj in the OMR Answer
) 2 A,

"""'[dates are required to give

tﬁgﬁ' answers in their own words
as far as practicable.

. Figures in the right hand margin
indicate full marks.

. 15 minutes of extra time have been
allotted for the candidates to read

the questions carefully.

Page 1 of 44

SS/A/605

https://www.bsebstudy.com


https://www.bsebstudy.com/

[ 110
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: T 5. This question boo :
5. %€ W 31 @Ugl § & — @ue-ar
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7. @US-T 7 30 7Y FANT wyr

&aﬁ#ﬁﬁ-‘}'zsnﬁwmh

mm%ﬁqswﬁtﬁﬁﬁ

AUE-F H 100 axghre gyr & 6

. In Section

two sections — Section-A and
Section-B.

In  Section-A, there are
100 objective type questions, oyt
of which any 50 questions
are to be answered. First
50 answers will be evaluated in
case more than S0 questions qre

answered. Each gquestion carries

1 mark. For answering these

darken the circle with blue / black
ball pen against the correct option
on OMR Answer sheet provided to

You. Do not use whitener / liquid
/ blade / nail etc. on OMR-sheet,
otherwise the result will pe
treated invalid,

-B, there are 30 short
answer type Questions, oyt .of
which any 15 questions are to pe
answered. Egch question carrieg

2 marks. Apart from these, there

are 8 long answer type

out of which any
4 questions qre to be answered

questions,

Each question carries 5 marks,

Use of any electronic appliances is
strictly prohibited.
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@ vg - i /{ SECTION - A

TS W / Objective Type Questions
W WA 1% 100 7% & 99T & W 9w faaey iy v § Rl @ vw w2t 2
fo2i 50wy & Fwv = ZWT 97 U WE Frwew @t OMR Wiz W [fETE
) .50 x 1 =250
Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. : : 50x1=50

1. f&=g (8 sin 60°, 0} @1 ( 0, 8 cos 60°) % == I gli B

Ay 8 By 25

- 1

64 D) =

(C) | (D) 3
The distance between the points ( 8 sin 60°, 0 ) and

(O, 8 cos 60° is

(A) 8 _ (B) 25

' 1

C 64 D —

(©) o

2. 3R 0(0,0) 7w forg A 7w fag P& T (x, y) & A <t oPR
A)  Yx?-y? B VPP
© x*-y D). 7 A $E T

If G (0, 0) be the origin and co-ordinates of the point P be (x, y)
then the distance OPis
(A)  x?-y? B) x?+y?

2 2
€ x“-y (D}  none of these

| S5/A/605

Page 3 of 494
https://www.bsebstudy.com -


https://www.bsebstudy.com/

a3
.

[110]

-3 A fag (12, 14 ) F g 2
A) 12 | B) 14
C) 13 (D) 15
The distance of the point ( 12, 14 ) from the y-axis is
(A) 12 (B) 14
€ 13 (D) 15
4. ﬁ%(—&-mﬁﬁ%%
(A} -6 (B) -8
© e D 8
The ordinate of the point (-6, - 8 ) is
@w -6 B) -8
(€) 6 (D) 8
5. g (3,-4)frauedRmo
(A) sem | (B) faf
C) g (D) gy
In which quadrant does the point (3, - 4 lie ?
(A)  First (B) Second
© Thira (D)  Fourth
SS/A /605 Page 4 of 44
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Fraferign & @-a1 fg fedra wqufe 3 Rm 2 2
A (3,2) (B (-3,2)
© (3,-2) @O (-3,-2)

Which of the following points lies in second quadrant ?

Ay  (3,2) By (-3,2)
) (3,-2) D) (-3,-2)
7. fagait (4, - 4) 3 (-4, 4) B PEnRaE e  aw fog F
Ay (4, 4) By (0,0)
© (0,-4) D) (-4,0)
The co-ordinates of the mid-point of the line segment joining the
points (4, ~ 4 ) and (-4, 4 ) are
A)  (4,4) B) (0O, 0)
() (0,-4) (D) (-4,0)
3 Yaravs AB ¥ ww fag (2, 4) ? 3 fag A & FAWE (5, 7 %?ﬁﬁg
B % fram €
A (2,-2) By (1,-1)
© (-2,-2) D) (-1,1)
" The mid-point of line segment ABis ( 2, 4 ) and the co-ordinates of
point A are (5, 7 ), then the co-ordinates of point B are
A)  (2,-2) B (1,-1)
(C) (-2,-2) (D) (-1,1)
[SS5/A/605 |
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0. i gu % =mm % Rl ¥ Fwie (10, -6 )W (-6, 10) 2 A 9 F
&g & w3

A (-2,-2) (B) (2,2)

[ —_——

€y (-2,2) D) (2,-2)

The co-ordinates of the ends of a diameter of a circle are { 10, - 6 )

and (-6, 10). Then the co-ordinates- of the centre of the circle are

Ay (-2,-2) (B) (2, 2)
€ (-2.2) D (2,-2)
10. aﬁﬁeﬁ%ﬁaﬁnﬁﬁ%ﬁémﬁ[4,6},[0,4}3?51{5,5)é?ﬁﬁg—d
& e $ HGUE &
(A) (5, 3) -(B) - (3,4}
- (C) (4, 4) B (D) (3,5)

The co-ordinates of the vertices of a triangle are (4,6 ), (0, 4 ) and

(S, 5) then the co-ordinates of the centroid of the triangle are
(A)  (5,3) B) (3,4)
(€} (4,4) (D) (3,5)

11. 3R A(D,1),B(0,5)T C(3,4)FH AABC & i &, @I AABCH

&FHd (T 3o H) B
(A) 16 : B) 12
T 6 D) 4
| 88/A/605 | T
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I{A(0,1), B{0,5)and C(3,4) are the vertices of any AABC,

then the area ( in square unit ) of AABC 1is

(A) 16 (B) 12
<c 6 (D) 4
12. tan 10° . tan 23° . tan 80° . tan 67° =
(A) O _B) 1
C 43 . (D) % |
13. 3R @ oy Bt % S & FUE 100 ¢ 144 B, @ FEH F YA
%1 IIW B
(A) 10:8 (B 12:10
(©) 10:12 (D) 10:13
If the ratio of areas of two similar triangles is 100 : 144 then the
ratio ;:11' their corresponding sides is |
(A) 10:8 B) 12:10
(C) 10:12 , (D) 10:13
L4, Fod g @ & s gt v s A e Y ) R
—(a) o (B) B¢& @
€ w9 D) T A FE A&
| A line which intersects ‘a circle in two distinct points is called
(A) Chord (B) Secant
(C) Tangent (D)  None of these

[ 'ss/A/605 |

Page 7 of 44

https:waw.bsebstuély.com '


https://www.bsebstudy.com/

[110]

5. 2 e S A w4 0% s # 41 fryw & Aot am

9 foan g 2
(A) 9:4 - (B 16:81
(C) 81:16 D) 2:3

The corresponding sides of two similar triangles are in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?

A) 9:4 (B) 16:81
(C) 81:16 ° ‘ (D) 2:3
16. AABC ~ADEF @41 BC = 3 8\, EF = 4 9 2| 4} AABC 1 &%
" 54 32 €, & ADEF®I See 2
(A) 5632 B) 96 Tt?
(C) 196 aHi% - (D) 49 &2
AABC ADEF and BC=3 cm, EF =4 cm. If the area of &ABC s
54 c¢m ? , then the area of ADEF 1S |
2 . " 2
(A) S56cm (B) 96cm
(C) 196 cm? (D) 49 cm?
17. &l s ABC® 24 =90°, BC= 138, AB= 128fi @Y AC %7 o[ &
(A) 38ad B) 433t
(C) 5@ (D) 6 &
SS/A/605 - Page 8 of 44
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In any AABC, ZA = 90°, BC = 13 cm, AB= 12 cm ; then the value of
AC1s

{A) 3 cm [B] 4 cm
€ Sem (D) 6cm
18. ADEF @&l APQR § f&mn & f% 4D = £Q aW1 «R = £E, @ Fmafafea 4
SH-H1 §E & ?
(A) <£F=4P By «ZF=<0Q
(C) «£D=«P (D) ZE= 2P
In ADEF and APQR it is given that ZD = ZQ and /R = ZE, then
which of the following is correct ?
(A) <ZF=/P (B) £F =4Q
(C) «£D=4£P (D) <LE=LP
: ' "AB_BC _CA 45 - ane
19. AABC T ADEF ¥ oR & & Sp=fp=pp W <4 = 405
/B =80° @ £F W R
(A) 30° (B) 45°
(Cy 60° (D) 40°
| AB_BC _ LA LA = 40°
AABC and ADEF are such that DE-FEF = DF and ,
/B = 80° ; then the measure of ZF is
(A)  30° (B) 45°
() 60° (D) 40°
l SS/A/605 | Page 9 of 44
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20. @ W= get B vl wt Yanatt € wen 2
(A) 1 (B) 2
-
C) 3 (D) mfEg
The number of common tangents of two intersecting circles 1s
(A) 1 B) 2
) 3 (D) inﬁnitely many
21. H W@ fog PR 9W W pA W PR A wdl e @ ¥ aR
PA=g#®ft @l PB=
(A) 6 94 (B) 8T
(C) 123# . (D) 16 @
From an external point P, two tangents PA and PB are drawn on a
circle. If PA =8 cm then PB = |
(A) 6 cm ‘ (B) 8 cm
(C) 12cm D) 16 cm
22. #fe pAE pB Tl @ g PR ¥ 09 99 W wteh T w3
Ud /APB=80°dl LPOA =
(A)  40° (B) 50°
(C) 80° (D)  60°
If PA and PB are the tangents drawn from an external point Pta a
circle with centre at O and ZAPB = 80° then £POA =
(A)  40° (B) 50°
(€C) 80° (D) 60°
SS/A/605
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23. 3 W R T g @ i) 8 e v, e g @ e ) e e
H HH-T 0 T R 2
(A)  30° B) 45°
(C) 60° (D} 90°
What is the angle between the tangent drawn at any point of a
circle and the radius passing through the point of contact ?
(A)  30° (B) 45°
(C) 60° (D) 90°
24, aqﬁﬁﬁmﬁmms;4%ﬁﬁéﬂwﬁwm%
A) 3:4 (B) 4:3
(C) 9:16 (D) 16:9

The ratio of the radii of two circles is 3 : 4 ; then the ratio of their

areas is.
(A) 3:4 (B) 4:3
(C) 9:16 (D) 16:9

25, a0 e Brow o q & 7w Broe o i o1 a0° &, 7 e &

(A) 515 @2 (B) 416 a2
(C) 462 T~ (D) 406 A2
| SS/A/605 |
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The area of the sector of a circle of radius 42 cm and central angle
30° is '

(A) 515 cm? (B) 416 cm>
(C) 462 cm? (D) - 406 cm?

26, A g 6 IR g 5 ;7 R @ I7H s w1 osEuE 2
Ay 7:5 A{B) 5:7 |
(C) 25:49 (D) 49:25
The ratio of the circumferences of two circles is 5 : 7 ; then the
ratio of their radii is
(A) 7:5 : (B) 5:7
(C) 25:49 (D) 49 :+25

27. Tsec? A-T7tan? A=
(A) 49 | | B 7
) 14 (D) O

28. 4R x=acos® 3N y=bsind A bx? +a%y*=
a)  a?p? | (B) ab
(C) a*v? (D) a® + b2
If x=acos® and y=bsin® then b2 x? +ay?=
(A)  a?p® B) ab
© a*p? h (D) a’+ b2

SS/A/605 Page 5 of 4+
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20. v AR % ¥ 1 3 ke @ 10 A A AR 600 7, A
) S 3 |
(A) 10 B) 1043
© 15J3% D) 203®
The angle of clevation of the top of & tower at a distance of 10 m
from its base is 60° ; then the height of the tower is
(A} 10m (B) 10V3m
(C) 15/3m D) 203 m
30. U UqT g 4 30 tﬁﬁi’?ﬂj‘#m%ﬁnwﬁs“&'qﬁﬁ 60":%@“1
o N Rt h L S
(A) 3042 H B) 35V3 W
(C) 2043 ® (D) 45/2 Hi
A kite is a at a height 30 m from the earth and its string makes an
angle 60° with the earth. Then the length of the string is
(A) 3042m : (B) 3543 m
(C) 2043m (D) 45J2m
31. k% feg wm ¥ fore famm e kc ~6x+1 =0 & Y& IRAfaS w
FHH € ?
(A) 6 | B 8
c 9 (D) 10
rss;;jeos Page 13 of 44
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For what value of k, roots of the quadratic equation Jex? - 6x +1 =

are real and equal ?

A) 6 B) 8

€ 9 (D) 10

32. - A WER p(x) B @ =@ 2 A, @ Aeflad § @ plx) B oo
TGS § ?

(A)  x-2 . (B) x+2

©  x-1 (D)  x+1

If one of the zeros of the polynomial pi{x) is 2 then which of the

following is a factor of p(x) ?
(A x-2 (B)  x+2

(C) x-1 (D) x+1

3:3. ‘lﬁﬂgﬁ cxz+ax¥b%¥1§ﬁﬂ§u3ﬁ1[3'§f,?ﬁa.[3 CARCIERS

a -da
@ < ® 2
b : b
© 2 O -2

If « and B be the zeros of the polynomial cx? +ax+ b then the value

of . P is
a ' -a
(A) = (B) -
b | b
(C) - (D) -
SS/A/605 Page 14 of 44
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34, Tralerfed 3 & 34 fom wftw &
A)- .
A7 (x43) (x-3) =x? 453 (B) (x+3)% =4(x+4)
-2\ _a.2
€ (2x-2)" =4x247 (D)  4x+-=4x
4x
Which of the following is g quadratic equation ?
[Al (X+3){x-—3] =x2_4x3{B)‘ {x+3]2 =4[x+4}
€  (2x-2)? =4x?47 (D)  4x+-—=dx
. 4x
35. Tmafefgs § & #¥9 fogm wftew 348 2 -
Cx2 242 | 3_ .2 3
(A)  Sx-x"=x"+3 B) x"-x“=(x-1)
) (x+3)%=3(x2 -5) (D)  (V2x+3)%2=2x%+5
Which of the following is not a quadratic equation ?
(A) Sx-x?=x2+3 B) x3-xZ=(x-1)3
C) (x+3)2=3(x%2-5) (D) (V2x+3)°=2x*+5
36. feama gl 2x2 - 7x+6=0 H1 a=®
(A) 1 B) -1
) 27 (D) 37
The discriminant of the qﬁadratic equation 2x% -7x+6=0 is
(A) 1 B) -1
(C) 27 (Dy 37
[_SS,’A!E:OS Page 15 of 44
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37.  Mleiad § 25 fag x = 2 ¥ S w 2 2 -
A (2,0) | B) (2,1)
€ (2,2) (D) ¥ @ wh
‘Which of the following points:ies on the graph of x =2 ?
A (2,0) B) (2,1)
(C) {2,21’

(D)  all of these

38. AR P+1,2pP+ LAP- 1 90 9 4 § & papy g 2
(A) 1 (B) 2
€) 3 (D) 4

IfP+1,2P+ 1,4P-1 are in A.P. then the value of Pis

B) 2

(D) 4
39. OO I 1,5,9, ... %1 9 3y @

Aa) 1
(C) 3

A) 2

© 4

B) 3
(D) 5

The common difference of arithmetic progression 1, 5,9, . j

(A) 2

5
(B) 3

€ 4 (D) 5
40. mﬁrﬂ@s,a,u,m,...wﬁw—mqﬁ%%?

(A) 104

(C) 124

| SS/A/605
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Which term of the AP, 5, 8, 11, 14, ... is 38 ?
(A) 10th (B) 11th
©) 12th (D) 13th

41. QM H A BT I 64 :125 % @ FH T el B I 2
A 25:8 (B) 25:16
©) 16:25 (D) ¥ S T
The ratib of the vdlumes of two spheres is 64 :125. Then the ratio
of their surface areas is
(A) 25:8 (B) 25:16
(C) 16:25 : (D) none of these

42, @ e B Breal w1 AW 4 : 58 T T S F HIN 6: 7 B,
A FH A F I B
(A)  96:125 (B) 96:175
(C) 175:96 (D) 20:63
The radii of two cylinders are in the ratio 4 : 5 and their heights are
in the ratio 6 : 7. Then the ratio of their volumes is
(A)  96:125 (B) 96:175
(C) 175:96 (D) 20:63

43. R frem a1 FrEa @ g A P
A R B 2R’

_(C) 3R? - D) 4xR?
SS/A/605 | Page 17 of 44
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What1s the total surface area of a hemisphere of radius R ?
(A)  nR? B) 21R?

(C)  3aR? D)  4rnR?

44. 3l et F F THys F1 drwer 880 A2 2 sk Bsa 141}*‘1*%3*3“@‘

(A)  10@ © (B) 20 %

(€ 40@f (D) 30 ¥

If the curved surface area of a cone is 880 cm?and its radius is
14 cm, then its slant height is

(A) 10 cm (B) .20 cm

(C) 40cm (D) 30cm

45. At forelt e & ool 0 camd 243 A 2 @ g9 A o 2

(A) 2% (B) 23 ¥f
(C) 3 & (D) 4 &
If the length of the diagonal of a cube is 2v/3 cm, then the length of
its edge is
(A)  2cm (B) 2v/3cm
(C) 3cm (D) 4 cm
[ SS/A/605 Page 18 of 44
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46. Wmﬂmm@aﬁm%@m%ﬁ%ﬁiﬂmw

feper 11 & e 2
@A AT (B) WW T
(€) ®: T | © (D) SR T

If the edge of a cube is doubled then the total surface area will

become how many times of the previous total surface area ?
(A) Two times (B) Four times
() Sixtimes (D) Twelve times

47, %%ﬁﬁ@.%ﬁwm%ﬁaﬁ%ﬁwm'b

1 I ® A
),94 2:1 - (B) 4:9
(C) 3:2 - (D) 4:3

The ratio of the total surface area of a sphere and that of a

.hernisphcre having the same radius is
A) 2:1 By 4:9
(C) 3:2 . (D) 4:3

4g.  af: fd g & T JEE HAR 1232 Aft2 2, @ Iah! B 2

(A) 7 S B) 14 %
) 213 (D) 284
[ ss/A/605 Page 19 of 44
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. . 2 )
If the curved surface area of a hemisphere is 1232 cm“then jt

radius is
(A)  7cm (B) 14 cm
(C) 21cm : (D) 28 cm

49. 4 cosB+cos?0=1® sin26+sin? 6 F AH 2
A) -1 : (B) 1

€ o - (D) 2

If cos 0 +cos? 0=1 then the value of sin? 8 +sin? 0 is

A) -1 | B) 1
© o D 2
' 2
50. .I..TEE?_{*;=
1+cot? A
(A) sec? A B) -1
(© cot?a (D) tan2A

51. sin(90 -A) =

(A) sin A . (B) cos A
(C) tanA (D) secA
52. UM a=p=60" A M cos(a-p) H.4M 2
B 2 ® 1
(C) O (D) 2
SS/A/605
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If @=P=60 then the value of cos(a-B) is

o1
A 3 B) 1

€ O D)y 2

53. A6 =45 B @ sin 0 + cos § B HA 2
1 5

A —_—
(Al J2 B) 2

(5,_[

If 8 = 45° then the value of sin 0 + cos 0 is

(D) 1

N |

(A) % @ 2

(C) D) 1

N |

54 u&A=30uaEh_2_t@—§—$[qﬂ%
l1-tan“ A

(A) 2tan30° (B) tan 60°

(C) 2 tan 60° (D) tan 30°

[f A = 30° then the value of —B14_ g

1-tan? A
(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°

SS/A/605
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55.

a2 tan[}:blg- A @ sin 0 1 97 2

o 12
(A) 12 _ (B) 13
© = o) L2

If tan{?f=152 then the value of sin 0 is

[110]

S 12
A 13 B) 13
5 12
(C) 13 (D) =
cos 58° tan80°
56. =
6 sin31° X cot10°
1
A)  — B} 1
(A) 7 (B)
J3 1
BECH D ey
(C) 5 (D) 5
57. AKX tan25° x tan65° = sin A & A A %7 4 2
(A) 25° (B) 65°
(C) 90° (D) 45°
If tan25° x tan65° = sin A then the value of A is
(A)  25° (B) 65°
(C) 90° (D) 45°
| SS/A/605 |
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58. gfe cosO=x @ tan 0 =

1}1*‘1’2 ]__xz

(A) (B)

€ Y1-x? (D) X

If cosO=x then tan 0 =

{ 2 2
(A) 14+ x (B) 1-x

x x
© 1-x° (D) =
1-x
59. (1-cos4e) -
(A)  cos?0(l-cos? ) (B) sin?6 (1+cos? 6)
(C) sin20(1-sin?6) (D) sin?0 (1+sin? 0)
60. y-78 W fRua et g wsv a2 ?
@A) (3, 0) {f3J (2, v)
€ (0, x) (D) ¥ A By T

What is the form of a point lying on y-axis ?

[110]

(A} (y, 0) (B) (2, y)
(C) (0, x) : (D) None of these
| SS/A/605 | Page 23 of 44
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E Friferfiga 4 & frw R agwe % s 3w - 10 # 9
A x%2+7x-30 - (B) x%-7x-30
—
C) x%+7x+30 (D) x2-7x+30
Which of the following quadratic polynomials has zeroes
3and - 10 ?
A x%+7x-30 | B)  x%-7x-30
€ x?+7x+30 D) x%-7x+30.
62. ﬁmmm%mwmaﬁmm—zé,ﬁaﬁ
feema wgug 2
TN(A) 'xﬂfsx—z B) x2-3x+3
C) x2-2x+3 D)  x?+3x-2

If the sum of zeros of g Quadractic polynomial

1S 3 and their
Product is — 2 then that quadratic Polynomial 1S

Ay x2-3x-2 - B) x?-3x43

2

(C) x2-2x+3 D) x243x-9

63. 9fe p(x) =:J¢:4—2.:u:3-|-1'?’.7c2 -4x+30 %Y

Qx)=x+2 | s R vy 2
a WISl &1 OTa R

(A) 6 B) 3
€ a4 (D) - 5
SS/A/605 | - -
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If p(x) =x*-2x3417x2 ~4x+30 is divided by g(x)=x+2 then

the degree of the quotient is
(A} © (B) 3
€ 4 (D) S

64. x+2y+3=0, 3x+6y+9=0 & foham & 8 2
(A) TH & (B) I3 & T
(C) MM & (D) ¥ & #7 TE

How many solutions will x +2y+3 =0, 3x+6y+9 =0 have ?
(A) One solution
(B) No solution
(C) Infinitely many solutions
(D) None of these
65. < Waw witewwn & @iz afe qwre & a1 gl i g gnft
A) 1 (B) 2

(C) 3l (D) ¥4 ¥ HI3 7

If the graphs of two linear equations are parallel then the number

of solutions will be

(A) 1 B) 2
(C) infinitely many (D)  none of these
SS/A/605 Page 25 of 44
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66. s AR PR Sx_4y+8=0 T 7x+6y-9=0 2

(A) ¥ B) T
(C) aBm D) %W & HIE Tl
The pair of linear equations 5x — 4y+8=0 and 7x+6y—-9=0 is
(A)  consistent (B) inconsistent

(C) dependent (D) none of these |

67. e feum Wfieor 3x2 5% 420 B W 0 T p A A o2 +p2 F AA 3
13 9
A i3 9
B3 ' B 3
5. | 3

If « and B are roots of the quadratic equation 3x2-5x+2=0 then

_ the value of o? +82 is

13 ' 9
(A) > (B) 13

5 _ 3
(C) 3 | (D) _g

68. &l fema @i 2x% -7x-p=0 M EHE A 2 A A pFT U= 2

(A) 4 B) -4
(C) -6 - D) 6
SS/A/605 Page 26 of 44
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[ .
Il one root of the quad]‘atlc gquation 2x2 —-Tx- p:o is 2 then the
valuc of pis

A) 4 (B) -4
€) -6 (D) 6
69. 3 fguma wfiew 2x2 — x-6-0 %1 & qW IQ—S%FﬁWW‘@%

Ay -2 B) 2

(C)

N

D) 3

If one root of the quadratic equation 2x% -x-6=0 is _—zsthen its

another root is

A) -2 B) 2

© 3 D) 3

70. fifzrraarﬁwumxz—ﬁxw:o%q\?ﬁﬁﬁﬁw%?
(A) R T FEEH (B) adfa® O §AH
(c) drafeas e (D) ¥ BN Tl

What is the nature of the roots of the quadratic equation

2x2 —-6x+3=07

(A) real and unequal (B) real and equal
(C) not real (D) none of these
[ss/A/605 | Page 27 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

[9 ¥ HEE 2-5,5-8,8- 11, ... % anl # @aw §

[ 110

Ay 2 (B) 3
< 4 : D) 35

The length of the class intervals of the classes,
2-5,5-8,8-11,...is

(A) 2 (B) 3
(C) 4 D) 35 -
72. 3R} = ePmeR fawa gt w5 e 6 8, @ Tud ¥ TEw 2
&) 45 | B) 9
© 21 - D) 15
If the mean of four consecutive odd numbers is 6 then the largest
number is
A 45 | | tB) 9
© 21 (D) 15
73. YUY 6 WX Wihd GEHIA] W A B
A 4 B 6 |
C) 7 B) T 8 B T
The mean of first 6 even natural numbers is
A) 4 B) 6
Cc) 7 (D) none of these
| SS/A/605
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74, 1+C0t2 0 =

|
A) sin’ 0 (B) cosec?0
2
_/w) tan™ @ (D) sec2 o
75. 87.9.3,9,5,4,5,7,5 % 9w @

(A) S B) 7

C) 8 (D) 9

The mode of 8, 7,9, 3,9,5,4,5,7,51s

(A) S B) 7

(C) 8 (D) 9

76. aft P(E)=0-02dl P(E') W& 2

(A) 0-02 (B) 0-002
(C) 0-98 (D) 0-97
If P(E)=0-02 then P(E’) is equal to
(A) 002 (B) 0-002
(C) 098 (D) 0-97
77. awﬁﬁ@wﬁwmilwmﬁmms@ﬁﬁﬁ
TRreRdT =1 8 ? |
1
1 B) =
(A) 36 6
5
> D) ==
| /605 | Page 29 of 44
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Two dice are thrown at the same time. What is the probability thay

the difference of the numbers appearing on top is zero ?

1 1
5 2
78. aﬁﬁaﬁmﬁﬁmsﬂﬁaﬁﬁvﬁw%
1 _ 1
& 2 B 3
© =+ D) 1
- 4 { }
The probability of getting heads on both the coins in throwing two
coins is
1 1
@ 2 B 3
© 1 D) 1 -
4
79. waﬁﬂ@uﬁmw?ﬂm%m%mﬁwaﬁﬁ
. ifrepen & |
3 1
(A) y (B) 5
1 1
© & D) 2
A month is selected at random in & year. The probability of it being
June or September is
3 - 1
1 1
© < ) 2
SS/A/605
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[110]
w TR % N T 4 W 5 9 ) g 2
1
A5 | B

1
€ 3 (D)

The probability of getting a number 4 or 5 in throwing a die is '

(A) (B)

1
2

(€

Wi Wi

©)

O |r—

81. ufe foredt waiat 3 =1 587 v 11 v9 @@ At 2 B A IEH FUH UG T
g ?
| (A) 1 (B) 2
€ 3 | D 4
If 5th term of an A.P. is 11 and common difference is 2 then what
is its first term ?
(A) 1 (B) 2
€ 3 Dy 4
82. nUSl aTel THIE G 1AM n2+2n+1l%ﬁ1 THHI 6 31 T &
(A) 29 {BJ. 19
) 15 (D) T F§ T
The sum of an A.P. with n terms is n? +2n +1 then its 6th tlf:rrn 1S
(A) - 29 (B) 19
(C) 15 (D)  none of these
[ S5/A/605 Page 31 of 44
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83. Fmfafgad S awm adid2 2

' 4 _5
(A)  1,7,9,16, .. (B) x2, x3, %%, x°,...

(C)  x,2x 3x, 4x, ... D) 22,42 6%, 8%, ...

Which of the following is in an A.P. ?

I
(A) 1,7,9,16, ... B} x2, x3, x% x°,...

(C) x 2x, 3x,4x, ... (D) 22,42 62,82, ..

84, Fefafgn d S awm i d i 2 »

(4) 1,2,3,4,.. (B) 3,6,9, 12, ...

(C) 2,4,6,8, ... (D) 22,42 62 g2

Which of the following is not in an A.P. ? -

(A) 1,2,3,4, .. (Bj 3,6,9,12, ...

(C) 2,4,6,8, ... (D) 22,42, 62 82
85. WM #dl 1,4, 7, 10, ... % FuW 20 W HI A B

(A) 500 B) 540

(C) 590 (D) 690

The sum of first 20 terms of the A.P. 1, 4,7,10, ... 1s

a) 500 B) 540
(C) 590 | (D) 690
SS/A/605
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86. Pefafea d frgwmi o 1 & s R ?

-

(A) sin2 60" +cos 60 . (B} sin 90° x cos 90"
* 12 O
(C) sin?60 (D) sin45 x —1
cos45

Which of the following values is equal to 17

(A) sin? 60" +cos60 (B) sin 90° x cos 90"
< sin? 60° (D) sin 45" x ——l——,
+ c0845

e ' 2 2 _
/87, cos® A(l+tan A)=

(A) sin® A | (B) cosec2A
(C) 1 - (D) tan” A
88. tan30 =
@& V3 (B) if-
R D) 1
© 5 (D)

89. cos 60°=

1 J3
(A) 5 (B) 5
1
C —_ D 1
AC) 7 (D)
SS/A/605 Page 33 of 44
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decimal

90 "_-'-i'["lz goﬁ _tan2 45° —
1
(A) 1 B 7
1 0
) —= (D)
J2
91. fimfafaa § s-m A F qemera @ & & ?
14 9
A —_ B
8 15 .
C D —3
(C) 22 x32 ( )’ 22 x53
Which of the following fractions has terminating
expansion ?
14 9
(A (B)
) 20 5 32 5! x 72
8 : . 15
(C) (D)
22 32 : 22 x5°
92. —E _ & w0505 H foran <1 wwhar
2N 5™
101 101
A) (B)
( 2l x 52 21 x 59
101 . 101
(C) (D)
[88/A/605 |
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B

In the form of

IS
2'x5

) 101
22x52

o fsm , 0-505 can be written as
101
(B)
21 x53
101
(D)
23 x5°

(110 ]

93. uﬁw@‘ﬁﬁma=bq+rﬁ b=4,g=5 AN r= il a1 A 18 ?

(A) 20

(C) 25

If in division algorithm a=bg+Tr, b=4, g=5

B) 21

(D) 31

is the valueof a?

(A) 20

(C) 25

é&a «EG 2;2—4x—6%s@%%

(A) 1,3

) 1,-3

B) 21
(D) 31
{B] - 1: 3

[D] _lr_3.

the zeroes of the polynomial 2x% —4x -6 are

and r = 1, then what

(A) 1,3 (B) -1,3
{C] 11_3 {D] . 1:_3
| SS/A/605
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95. WEER (x> +x2+2x+1) (x?+2x+1) 1 H
(A) 3 (B) 4
€) S (D) 6
The degree of the polynomial (x> +x%+2x+1) (x?+2x+1) is
(A) 3 (B) 4

€) 5 | {D}" 6
96. frfafea § 1 agwg 44 & »

A& x?-7 B) 2x2+7x+6
1 2.1 4
(C) FX +5x+4 D) x+2

Which of the following is not a polynomial ?

(A) x% -7 (B) 2x2 + Fx+6
1 2.1 4 .

C X +=x+4 D

( } 2 2 ( } X+

(5] Faern ¥ i R wg & v 2w -2 4 -

(A) x2 +4 (B) x% -4
(C) x*-2x+4 (D) x24+J8
Which of the following quadratic polynomials has zeroes
2 and -2 ? '
A)  x%+4 B) x2-4
) x%-2x+4 D) x24+J8
SS/A/605 5 of 44
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gp. MR TR 47110 ¥ Y i p & A o+ o B

990.

(A) 7

¢ -7

(B) 10

Dy =-10

If a and B are the zeroes of the polynomial t24+7t+10 then the

value of a + B is

Ay 7 : (B) 10

) -7 (D) -10°3'

(sin30° +cos 30" )-(sin60" +cos60’ ) =

@A -1 B ©

o

€ 1 (D) 2

100. uﬁﬁ*amarguz (k=1)x2 +kx+1 1 TH TF - 4B A kFEA R

® 2

NS

w|e

< - (D)

w|b

If one zero of the quadratic p;olynqmia] [kétlxz +kx+1 is — 4 then

the value of kis

5 | S
A - B) 3
4 4
© -3 (D) 3
' SS/A/605 Page 37 of 44
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@Ug - & / SECTION - B

?""I‘ﬁﬂﬁm / Short Answer Type Questions
W WA 18 30 7% g gwviy geT &1 g @ et 1590 & I 1 gy
m%%’;’ZWﬁUﬁﬁ'ﬂ‘f I15x2=3,

Question Nos. 1 to 30 are Short Answer Type Questions. Answer gny

15 questions. Each question carries 2 marks. | 15 x2=3p
1L 9% fag % fidwrs w o o fagadl (- 1, 7) 3R (4, - 3) B T a

" W@REUE F 2 : 3% iU A ava-Rnf e )

Find the co-ordinates of the point which divides line segment

joining the points (- 1, 7 ) and ( 4, - 3 ) in the ratio 2 : 3 internally.

2. P #1 drwer T R oSt BEmiE (-5, - 1), (3, - 5) Ay

(5,2)%

Find the area of the triangle whose vertices are (- 5,- 1), ( 3, - 5]
and (5, 2).
3. Twdl @a w1 fowot 943 Fh B1 v +1 oot Y St 3@ wU

The diagonal of a cube is 9¥3 cm. Find the total surface area of

cube.

'y qﬁ[ane=%€lﬁ"[sin9+cosﬁmmmﬁi

-

If tanEl=T5§ then find the value of sin 6 + cos 0.

o

afe sin3A=cos(A - 26°) & Tl 34 T = #1 & @ A H1 7W 7 F

If sin3A=cos(A-26°), where 3A is an acute angle, then find the
value of A.
SS/A/605 | Page 38 of 44
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6. aﬁ@laﬁmﬁmsoiﬁmﬁﬁ@mwﬁﬁ%ﬂﬂ%;
T T FE =)
The sum of two numbers is 50 and one number 1s % times of the
other ; then find the numbers.
- T 7 W o i dan F wry 30° &1 H T 21 dER W IE fag A
Far 71d i w8 A Sen #) st Ft B
A ladder 7 m long makes an angle of 30° with the wall. Find the
height of the point on the wall where the ladder touches the wall.
8. U WHiM SqF ABCD #) Y1 AD & %@ WMl W E U fag 7 @ BE,
CD® F W yfode #ta1 2 ot fag + 7% AABE ~ ACFB.
E 1s a point on the extended part of the side AD of a parallelogram
ABCD and BE intersects CD at F ; then prove that AABE ~ ACFB.
9. ABC U% wufgarg wwsmr Bye ? fmer 2c swam 3 fag + &
AB?=2AC?.
ABC is an isosceles right triangle with £C as right anglé. Prove that
AB?=2AC2.
10. AB=AC 914 U% HHiGEIg AABCH! 951 T ¥ CB W fRm E & fag
213f& AD L BC 3R EF L AC 8, o fog % 7% AABD ~ AECF
E is" a point on side CB produced of an isosceles AABC with
AB= AC.If AD 1 BC and EF L AC, prove that AABD ~ AECF.
| SS/A/605 Page 30 of 44
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1. AABC #1 Yo AB aft BC wen Wifes®l AD @& AT APQR #

A PO I pR wr wiemm pu wE: EAEE E A fig
% AABC ~ aAPOR.

Sides AB and BC and median AD of a AABC are respectively

Proportional to sides PQ and PR and medium PM of another APQR,
Then prove that AABC -~ APQR. |

12. AABCTN ADEF 9wy § wut 9% St waS: 9 A2 a1 64 A2 3

T DE =513 8 @ AB 7 =¥

2
AABC and ADEF are similar and their areas.are 9 cm“and 64 cm 2
respectlvely If DE = 5:1 ¢m then find AB.

13. X +1ﬁx+1ﬁﬂ1’ﬂ?ﬁﬁml
Divide x3 +1 by x + 1.
A4 gl fnmem weiien #9504 @ 1188 1 Hodo A |
Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188.

_ s ﬁ:ammﬁw 2x? +Sx-3= o%ﬁéﬁmaﬁaﬂtlﬁﬁaﬁ’rwﬁnﬁm
i

Find the discriminant of the quadratic cquatmn 2x2 +5x-3=0

and find the nature of the roots also. '
_le7 afe e v % mmﬁﬁw7ﬁﬁqﬁzﬂﬁi’»‘aﬁz4ﬁ%?ﬁsﬂ%
THYE HT HTRA TG B

If the radius of base of a cone is 7 cm and its height is 24 cm then
find its curved surface area.

SS/A/605 T
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17.

18.

19.

20.

21.

22.

23,

24.

[110]

w T ) e ) g B erad 7 & 21 20 P F 5w g w fen

HAGS Td |
The length of the minute hand for a clock is 7 cm. Find the area

swept by it in 40 minutes.

ﬁ'ﬁﬁﬁ?tan 7° . tan 60° . tan 83° = J3.
Prove that tan 7° . tan 60° . tan 83° = V3.

fouma g3 *1 W = wfem 2x2 -242x+1=0 & q& 7@ &
Using quadratic formula find the roots of the equation

2x% -2J2x+1=0.

3+ 11+ 19+ ..+ 67 % qTHA Fd B

Find the sumof 3+ 11+ 19+ .. +67. _

afe ford auTeR %€ #1 5 91§ 9 af g wuW: 43 wE 79 & A Ui A
1d H|

If Sth and 9th terms of an A.P. are 43 and 79 respectively, find the
‘A.P.

ﬁ‘mﬁ% l+cos® 1+cosf

l1-cos®  sin®

Prove that I1+cosB =1+_cost) ‘
) 1-cos® sin 0

fag #1 & tan9° . tan27° =cot63°.cot81°.

Prove that tan9® . tan27° =cot63°.cot81°.

gfe cosﬂ:—;£ & @ cot AN cosec A H UH A Fi|

If cosA=—g- then find the values of cot A and cosec A,

| SS/A/605 | Page 41 of 44
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& SFHIT YT QUi Fd St R @il % AT 365 B

. e ¢
Find two consecutive positive integers, sum of whose squareg
is 365.

< TS F T w7 37 180 &1 B W& I a7l WY FEAT H AS ) R,
W FYT & fou gftwmor Ry

The difference of squares of two numbers is 180. The square of the
?

smaller number is 8 times the larger number. Write the equation
for this statemen't.

27. 1% B POR ¥ @ fag 5 3k T Y3 PQ 91 PR W H591: 39 Wb 3
fs PS_PT - j ]
SO~ TR T £PST APRQ,aﬁﬁraaﬁ%aPQRﬁHﬂﬁmg
RELTRd
In a triangle POR, two points S and T are on the sides PQ and PR
: PS_PT
respectively such that SO-TR and £PST =/PRQ, then prove that
APQR is an isosceles triangle.
28 T % 5- V3w amfer g 3
Prove that 5~ 3 is an irrational number,
29. k% 6w WA & fve famgd L1 (3, k)R (-1, 4) g 3 o
For what valye of k points ( 1, 1), (3, k) and (- 4 ) are
collinear ? }
30 y‘mﬂ““*&mﬁﬁmﬁ“ﬁﬁ?ﬁﬁ{ﬁ,snﬁu 4, 3) & gHew
B
Find such a pPoInt on y-axis which ig idi
’ €Quidistant 1
“(6,5) and (4. 5 ) 'stant from the points
SS/A/605 | I e
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#d 309 W9 / Long Answer Type Questions

wﬂﬁw31ﬁasﬂﬁﬁﬁvmﬁlwﬁﬁ%ﬁ4gﬁ$m%mﬁaﬁ
wos & forw 5 o Fruifte 2 | 4x5=20

Question ‘Nos. 31 to 38 are Long Answer Type questions. Answet any

4 questions. Each question carries 5 marks.

31.

32.

33.

34.

4 x5=20
g gl 0 x+3y -6=0 YT 2x -3y-12=0 I HoE gid au
& i

Draw the graphs of the pair of linear equations x+3y-6=0 and

2x - 3y-12=0 and solve them. -

g wt £ At frd P w1 @ 1 g B ¥ T I & S0 A I

= 0 ) FaRa HO el e s 8 e e g 8l

If one angle of a triangle is equal to one angle of the other triangle
and the sides included between these angles are proportional then

prove that the triangles are similar. https://www.bsebstudy.com

@ 3iF h UF FE AT A F Ay K N T R W HW IR b

A% 6 g @ A GEd T B

A two digit number is four times of the sum of its digits and twice

the product of its digits. Find the number,
7-6 At v TH Y@rEs EY S 5: 8% 9@ ¥ fifora 11 A1
urel =t T

T

=

Draw a line segment of length 7:6 cm and divide it in the ratio

5 : 8. Measure both parts.

[SS/A/605 Page 43 of 44
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35. Tae=wifs (secO—tan@) =1+2tan26-2secO .tan0.
(secO+tan0)

[secﬁ--tanﬂ)
(sec@+tan @)

36. J T H B wwwm: 10 ¥ sk 9 A F) 3w g@ R B wE oW
Tl w57 dW1 991 1 ahfr & o & s A

Prove that

=1+2tan? §-2sec .tan®.

The radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle which has circumference equal to the sum of

the circumferences of the two circles.

37. Frafafes dex %1 wrer s w5 -

Tt FE | 11-13 | 13-15 15-17 | 17-19 | 19-21 | 21-23 | 23-25

SREE | 7 6 9 13 20 5 4
Find the mean of the following distribution :
class 1113 13415 | 15-17 | 17-19 | 1921 | 21.23 23-25
interval ) B ) }
Frequency 7 6 9 13 | 20 | s 4

38. Eﬁﬁ%ﬁﬁﬂjiﬁﬁlﬁmiﬁﬂﬁ4ﬁﬂ1%mﬂﬁqﬁmﬁlﬁ%qﬁ@q
(vRftr) 18 aft 3tk 6 &t &1 5@ s 1 Tydle e i =1
The slant height of a frustum of a cone is 4 cm and the perimeters

(circumferences) of its circular ends are 18 cm and 6 cm. Find the

curved surface area of the frustum.

_-—

 —
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